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long long getsuml (int n, int k)

//n B A Kk it

{
long long B = 1;
for (int i = 0; i < n; i++ ) B *= k:
return B*n* (k - 1) / 2;

}
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long long check(int n, int k)
{
long long ret = 0 ;
for (int i = 1; i <=n; i++)
{
int t = 1;
while (t > 0)
{
ret += t % k;

t /= k;

}

return ret;

}

(%5 check R/ H A AL I > bR BCH 7 IO SEBLE A5 LE AR, I T BATT IE A PR g o 1)
AT R BRSO

FIIH check R FrA il AT CLSL BLRIRE Y, HEATE .

(AT i 1, Al Lt T g e 1 1 L) A B B (R 0, AR A R AR 55l i A

%2 703K 13 W




IR

FX BB g s, R AT BE O B 2R (R

XA, FAiT AT AR AT DAL e B BT A Ay e D R B AL, T LU T
SEBT A — 22 IR B ARl

XA I A O bR SN, SR AL A AR TR I S R A B A
XG0, W i) AU B Tt — Ko

Bian, 7+, TH5E[10000,54321 P (ECF AL, BT AT ALK Lo R -

[10000,19999],[20000,29999],[30000,39999],[40000,49999],[50000,54321]
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[10000,19999],[20000,29999],[30000,39999],[40000,49999],

[50000,50999],[51000,51999],[52000,52999],[53000,53999],

[54000,54099], [54100,54199],[54200,54299],

[54300,54309],[54310,54319],

[54320,54321]

H T BHAFREA X, A 1490 E K getsum2. (BFSE EAEA T getsum2 B )5,
getsuml B8 HUE ] LLA getsum2(0,n, k)8 3%)

long long getsum?(int prefixsum, int n, int k)
//prefix A AILRTRECFA, n h HBAKE, k Akl
{

long long B = getsuml( n, k):

long long C = prefixsum;

for (int 1 = 0; i < n; i++ ) C *= k;

return B + C;
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long long getsum3(int prefixsum, long long n, int k)
/AT RS 0 2 n P AIZ A, k EER], prefixsum b ATZA
{
/ /SRR ECR B IH R A, T S L SRR A
if (n<k)
{
long long ret = 0;
for (int i = 0; i <= n; i++ ) ret += prefixsum + 1i;
return ret;
}
long long t = 1, tn = n;
int d = 0;
while ( tn >= k)
{
tn /= k;
t *= k;
d ++:
}
long long ret = 0;
for (int i = 0; i < tn; i++ )
ret += getsum2( prefixsum + i, d, k );
ret += getsum3( prefixsum + tn, n - t * tn, k );

return ret;
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long long getsuml( int n, int k )

//n B HAEAEL kO B (o=n>=1)

{
if (k%2==0)
{
if (n%2==0) return 0;
else
{
long long d = —45;
for (int i =0; i <n - 1; i++) d *= 10;
return d;
}
}
else
{
long long d = -1;
for (int i = 0; i < n; i++ ) d *= 10;
return d / 2;
H

long long check( int n )
{
long long ret = 0;

int t = 1, all10];
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for (int i = 1; i <= n; i++)

{
int r=20, p=1i;
while (p > 0)
{
alr++] = p % 10;
p /= 10;
}
for (int j=r—-1; j>=0; j—)
{
ret += alj] * t;
t = -t
}
}

return ret;
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long long getsum2( long long prefix, int n )
//prefix NETZE, n NMEBMN N (n >= 1, prefix >= 1)
{
intd=0, t=1;
long long p = prefix, presum = O;
while (p > 0)
{
presum += (p % 10) * t;
p /= 10;

d ++;

presum *= —t;

for (int 1 = 0; i < n; i++ ) presum *= 10;
long long ret = getsuml( n, n + d );

if ((d+n) %2==0) ret += presum;

return ret;
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long long getsum3( long long n )
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if (n<10)
{
long long ret = 0;
for (int i = 1; i <= n; i++)
if (i%2==0) ret =1; else ret += 1i;
return ret;
}
long long tn = n, p = 1;
int d = 0;
while ( tn > 0 )
{
tn /= 10;
d ++:
}
for (int i = 1; i < d; i++ ) p *= 10;
long long prefix = 0, ret = 5;

for (int j=1; j<d-1; j+t)

for (int i =1; i <=9; i++)
ret —= getsum2( i, j );

tn = n;

while (d > 1)

{

for (int 1 =0; i < tn / p; i++ )

{
if ( prefix !=0)
ret —= getsum2( prefix, d — 1 );
prefix ++;
}

tn %= p; p /= 10;
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d—; prefix *= 10;
}
int al20], t = -1;
for (int i = 0; i <= tn; i++ )
{
long long p = prefix + i;
int r = 0;

while (p > 0)

{
alr++] = p % 10;
p /= 10;
}
for (int j=r—-1; j > 0; j—)
{
ret += alj] * t;
t=-t
}

return ret;

}
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